	   2 + 3 = 5
	5 – 3 = 2
	2 + 6 = 8

	9 – 8 = 1
	1 + 8 = 9
	8 – 6 = 2

	7 + 2 = 9
	9 – 2 = 7
	7 + 1 = 8

	6 + 3 = 9
	9 – 6 = 3
	8 – 1 = 7

	3 + 5 = 8
	8 – 3 = 5
	4 +5 = 9

	4 + 0 = 4
	4 – 0 = 4
	9 – 5 = 4


Musical inverse relationship match:  Copy onto card stock, laminate and cut out.  Distribute a card to each student and then turn on the music while they find the person who is holding the inverse of their number sentence.  Stop the music intermittently to speed things up!  Call it Beat the Music Match Up!
